© 0000
go N o ©

reaction probability
© o
w bn

o o
=N

O
= O

© O 000
U o N o ©

reaction probability
© o
w h

o o
=N

O
= O

:I(a) H, I(v =0) even 5

(v=0,J=2)
(v=0,J=4) -
(v=0,J=6) —
(v=0,J=8) —

(v=0,J=10)
| | | | | |

02 04 06 038 1 1.2 14
translational energy [eV]

|
| (c)H, (v=0)oddJ ==

(v=0,J=7)
(v=0,J=9) —

(v=0,J=11)
| | | | | |

02 04 06 038 1 1.2 14
translational energy [eV]

reaction probability

reaction probability

© 0000
g o N o ©

© o000
RN WA

O
= O

© O 000
U o N o ©

© O 0o
RN WA

O
= O

[ (D) H, (v=1)

|
evenJ

T = ¥

v=1,J=0) — -

v=1,3=2) — |
(v=1,J=4)
v=1,1=6) — ]|
| | | | | | |
02 04 06 0.8 1 1.2 14
translational energy [eV]
| | | | | | | I_'_
| (d)Hy(v=1)oddJ - |

v=1,J=1) — -
v=1,3J=3) —

(v=1,J=5)

(v=1,3=7 —

04 0.6

0.8
translational energy [eV]

1

1.2

1.4



